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1. In the given figure, what is the value of
@

17 SC CGL 3 March 2020 (Evening)
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2=\ 13%-12% . .
_ (7X35 2. In the given figure, cos@ is equal to :
P = ¢ SSC CGL 7 March 2020 (Afternoon)
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. 3. If sec A =O§;,’gthen what is the value of
4
b*\‘)‘ﬁ cot A?
3 CHSL 19/10/2020 (Evening)
Q)tﬂ:ﬁ_: 3 4
P — (b) —

3

3
(c) ¢ (d) s
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. \ 4. I@ ?:'hen what is the value

of tanA?
tomf - P CHSL 17/03/2020 (Afternoon)
B - b) =
24 24
7

(c) 25 (d) 25
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80_¢p

29 S. If cotg = @",‘,;:hen find the value of
OO cosecf.
(89 CHSL 17/03/2020 (Evening)
Cosecp = 89 2 g
39 @) 3o P 39
39 80
() 2o d) 5o

89 39
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= %cj)?ﬁ 6. IfcosA=2sin A, t.hen equal to:

= CHSL 1971072020 (Evening)
iy g‘ (a) % (b) %
3l ‘ri (c) 2 ~9/ /5
. tamg=Sing

OOSG(H:\QS‘ (089






e AMATH SER L A R T sy ADITYA RANJAN SIR

2 x? + y?
(,iz_ 3'2.) % 7. If @% xz - :2 o then what will be the
©

value of tang?

2%
? CHSL 16/10/2020 (Morning)
ot 2 Xy x? -y? 2Xy
Xy (@) 2. 2 (b) 2 2
x’+y x*-y

2 x2+y2

x% -y
W 2Xy (d) 2Xy
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4 8. If cos 27"_% %., then the value of tan 63°
63 o
‘_,xq. 1S &
27 CHSL 26/10/2020 (Evening)
.4 \/1 + x2 . X
tan 63=8 = % " bl 1 x?
Vi

1- x? X
(o) 1= o oo

X
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’l+n7. m
" y\\@x 9. —g-lf tanx = - and 0° < x < 90°, then the
: value of (sinx + cosx) is :

CHSL 13/10/2020 (Evening)

N 4D
VTt miyne 1 1
n* (a) Jm? - n? (b) Jm? +n?
= M+n
;]m2~l»n1 m+n
S Ttz @ Jm?n?
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b .
b J3 cot + 1 "
Q 10. If cosecp = g then tan®+J3 is equal

{b%a* to:
= {3 Coto+ | CGL-2019 Tier-1I1 (16/10/2020)
tom0+\V3
. \/bz - a? \/az + b2
= Boip+ s —— (b) —
L 43
) (09 \/az + b3 p \[bz a?
(@M) ° 3 W3
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2 Q a 1- tan’0
-b [\ 11. Ifseco = Z,b¢0, then 2. sin29=?

b CGL-2019 Tier-II (15/10/2020)

o L) g, @B ra)
1 - (Qp) b*(a® - b?) b*(a® +b?)
= b* a?(2b?-a?) a?(2b? - a?)
Q - M} (c b2 (a2+b2) (d) a2 (az +b2)
ar
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valw - Putting i eadB
: R ="
{é]\g(q)ll If seco b,b¢0 then 2. sin’0
2 — ) CGL-2019 Tier-II (15/10/2020)
|- +om'0 (b
Q-Sin'd (a) a” (2b2 o az) (b) a® (2b2 i az)
b*(a” - b") b*(a’ +b?)

= 1= (B3)? _1-2
: = = 3 j (2p7 - a’(2pb” - a*)
- 5~ 9
(‘% “ Y \l-";b/2 (@ +b"’ (d) a’(a® +b?)
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> Y X
x % 13. If sin 21° = _, then sec21® - sin69° is

N Yy
J equal to :
- ‘ﬁ _\‘[Hf"xa \Sﬂ( x2 y2
{ Y -i" v y\/yz - x? (b) x\/yz - 52
D Y- (Y 2 4
) 3832-\(‘ (c) yx? - y? (d) x\[x? - y?
I G
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tanktl =17 (nA-!-co@ 17
l
14. , then the value of
S tow= - ._.@ 12
3 1-cosA
S 1S @
% sinA
> 1- _]‘2_ N SSC CGL 7 March 2020 (Afternoon)
—=_<~®»_, (a-5 (b) 1
% =S S 1
e 9y 5



e AMATH SER L A R T sy ADITYA RANJAN SIR

24

15. If cos x = 25 0 < x<90° then the value

of cot x + cosec xis:
CHSL 14/10/2020 (Morning)

(a) O (b) 1

7
() 7 @



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

3
16. If cot) = —, then sin0 + cosg - tan@ is

4 ’
equal to :
SSC CGL 11 June 2019 (Morning)
1 2
(@) =55 (b) 1=
1
(€) 50 (d) 715
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13
17. If secp = 5 then tang - sin@ + cos@

is equal to :
SSC CGL 11 June 2019 (Evening)

121 by 118
23 124

(€) 13 (d) 65
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36i0 =40 18, If3 sin@ = 4 cos@, then tan?g + sing -

N G :"%D cos@ is equal to :
4& SSC CGL 12 June 2019 (Afternoon)
3 88
taw'p + Sing -Ss0 (a) 4_5' (b) 2
TSt Es 89 o Y7
= 3 45 (<) 9
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19. If12sin® =5 cos@, then sin® + cosO -

cot® is equal to:
SSC CGL 12 June 2019 (Evening)

139 N
(@) 156 ®) - &5
116 16

€) 156 65
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3
20. Iftan@ = 5 0°< @ <90° then sin© cosHO

is equal to :
SSC CHSL 11 July 2019 (Evening)

14
(@) /32 (b) V17

16 15
(c) /34 (d) 34
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21. If sin® = 4 cosO, then what is the value

of sin® cos0?
SSC CGL 6 June 2019 (Afternoon)

2 3
(a) 9 (b) 10
4 3
(c) 17 (d) a
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5
22. Ifcos@ = 13’ then the value of tan?@ +

sec?0 is equal to:
CGL 2019 Tier-II (18/10/2020)

323 Py 313
303 233

©) 25 [4) 25
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3
23. If cos® = 5° then the value of sin@.

secH.tanf is :
9 . 16
(&) ¢ (b)

3 4
(c) 4 (d) 3
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13

24. If cosecO = 12 then sin® + cos9 —-tan@

is equal to :
SSCCGL 11 June 2019 (Afternoon)

91 139
(a) 65 (b) 65

y ! 71
(c) 65 (d) ~ 65
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: 7
12 2 25. If sin® -cos® = -, 0 < 6 <90° then
|

13
S the value of sin® + cos@ is :
17 13
13 ®) 17
1 1
(¢) 15 (d) 7~
£-g -
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JS+
Seco -H;Mg /2/26. If sec® + tan@ = @ then the value

of sin® + cos9 is:

/&/Secer,é’\f“s a
@ce:@ \i‘(ﬁ (b) |5
B 7 1
@\\ © 75 @ 75
Q.
WRIa
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s o1

5 7
NZI If sin® —cosO = then find the value
|9 17 17) @

of sin©+ cos#9.

3 SSC CHSL 14/10/2020 (Evening)
8 . 28

23 o 8
17 ()13
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20
28. If tan@ = 21° then the value of
@9 —D sin® - cos®
oM +1 sin® + cos®
= &80 - CHSL 12/10/2020 (Evening)
2
20 4 -1 27

: 29 29
©) 35 (d) 37
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(0SeCd = _2- 29. For 0 being an acute angle, if cosec@ =
4tan® - ScosO

S -
4\ 1.25, then the value of 2ecO + 4 cote 13
equal to :

3

4 x% - 8X3_ SSC CHSL 4 July 2019 (Morning)
S +ux3 3 4
ST (a) - (b) -

< 16
§ -9 1
3 (X e g C
13
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30. If S cos® - 12 sin® = 0, then the value

¢ 2sin® + cos®
% cos®-sin®

SSC CPO 2018, 16 March 2019 (Morning)

75 7.
(@) 1779 (b) 3
34 1
(¢) 235 (d) 37
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2 3sinb - 4cosO
31l. Iftang = 3° then 3<in6 + dcosO 1S equal
to:
SSC CGL 10 June 2019 (Afternoon)
1 2
(a) - 3 (b) 3
2 1
(e) - 5 @ -
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3 4sinb - cosO
32. If tang = —, then

4 4sinO + cosO is equal
to:

SSC CGL 10 June 2019 (Evening)

3
(b) =

(2) 3

1
(d) 5

(©) 5

AN D=
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tomf = ‘E‘ 33. If A lies in the first quadrant and 6tanA

8sinA -4cosA
cosA + 2sinA

©+omA= 5, then the value of
is :
SSC CGL 3 March 2019 (Morning)
(a) -2 (b) 1
(c) 16 (d) 4
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If 6 cot© =® then find the value of

ot 3 34.
= [ 6sin0 - 3cosbO .
—— % _7sin® + 3cosO '° :
SSC CGL 9 March 2020 (Afternoon)

6 tomd -2

g3 S oy ®) o
= OXg- 11 20

g‘lx%*g (c) 40 (d) a1
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3
35. Iftanx-= 2 then the value of

3sinx + 2cosx .

E i
3sinx - 2cosx
CHSL 14/10/2020 (Morning)

1 S
(@) o (b) 13

13
o) & (@ 5
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50S0-12Sin6 =0 — : —
o S(0sB =I2Sin6 36. If[Sc.ose - 12 sin@ = @ then the value of
=) /S - _Sin® = L’M9 1+ sinO + cosO -
2 0sb 1-sin® + cosO
SSC CGL 5 March 2019 (Afternoon)

S\ 3 3
- b) \(9/5 (b) a

B4 S 4)7 4 2

[l
w
(
l
@
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12
37. If cosb = 13’ then the value of

2sinO - 3cosO

4sinb - 9cosO

CHSL 26/10/2020 (Morning)
(a) 2 (b) 4
() 1 (d) N-o. 7

is :
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38. _gjf cot@ = l:%’ then the value of

1 37 cosec’0 + sec?0 -
= cosec’0 - sec’0
SSC CHSL 3 July 2019 (Morning)
49 43
- (@YY ... —
(—r t ‘%) @) 36 ®) 36
2\2 7 48
(7 \2 — —
(53 SENCE @) e
S Ty
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2
39. Iftan@ = _\/ﬁ , 0< 0 <90° then the value

2cosec’0 - 3sec’0

of 3cosec?0 + 4sec?@ equal to:

CHSL 26/10/2020 (Evening)

11 p 11
(@) s ®) 29
13

© 7o @ g
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2
40. Iftana-= T , then the value of

cosec’a + 2sec’a
is :

cosec’o - 3sec’a
CHSL 18/03/2020 (Evening)

(a) 21 (b) 14

(c) 32 (d) 16
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A

41. In AABC, /B = 90° and AB: BC = 2 : 1.
Js the value of sinA + cot Cis:
2
l i 2 +./5
8 (a) 3+5 by 2/5

(¢) 2+5 (d) 3-.5
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A 42. In AABC, /C = 90° and AB = ¢, BC = a,
' ‘\ CA = b, then the value of (cosecB - cosA)
is :
2

b2

R b) —
(osece—cosﬂ

} a’ o 2

bc ( ) a2

C

@
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4 1
9 g 43. In AABC, right angled at B, if tanA = 2’
61 ¢« sinA(cosC + cosA)
_ 701-/(*'— +o then the value of cosC(sinC - sinA) is :
AS\V5 5 SSC CGL 2019, Tier-II (16/10/2020)
(&L ) (@2 ()3
< - (c) 2 (d) 1
-
3
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1
In APQR, /Q = 90°. If cotR = _, then what
H-wW

secP(cosR + sinP)

cosecR(sinR - cosecP)
SSC CGL 2019, Tier-II (15/10/2020)

is the value of

2
@) - (b) -

WIN NN

2
(c) 3 (d) -



Sin(A+y) = SiMLwSy + COSX SmY

Cos(x+y)= COSXWSY — Sinx Siny

Cos(x-y) - Cosx wsy + Sinxsin\{



24
45. If 0° < A, B < 45°% cos (A+B) = —— and

{QMZG - Slﬂ?n 15 2
Cos 2A sin (A-B) = 17° the =
sin(@:34@-B)

- SSC CGL 6 March 2020 (Afternoon)
(os (A+B8)1@ -p) (a) O (b) 1

_ 416 213
Sin(A+48).- cos(a- -8)+ COS(A +8) Sin(A-R) \M/ 9 4~
C0S(A +8): Cos (A -p) — Sin(A+8)-SintA -g))

e —
<

b r-hite x‘% + M xis 1S \ 3 7 h‘ls

s—T S
Lxe- = 284 360

192~ To: 108 8 Wy
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Sing = ¢ sin® +cosO® _ 5 tan’0+1,
o8 1. 46. If <in® -cosd _ 4’ the value of r— is :
(awe= 9) ) 25 i
al — e
q‘2+| = -y 16 9

T Uo 41 40
NG 20 (d) o5
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2sinb - cosO

L) f =
QSINO- 0SB = CoSB+ sind . cosO + sin0O _._;l': then the value of cotd

Sin® = s PO is
O b) 5

(c) 3 (d) 2
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Poay cosO +sinO
€osf = 2 48. If = 8, then the valur of cot®
Sin® - cosO-sin®@ 1

is equal to :
SSC CHSL 12/10/2020 (Morning)
: -
(a) % -
7 . 8
(©) ¢ @ -
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tawS = -3 49. If + j::ee =2,0°< 0<90°, then find
5 Gowos j the value of sin@.
* Gaacly) 2 3
0=60" \Ys (@) V3 \M 2
Sin 60

, _1_ 1
= B % (c) 2 (d) 1
2




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

cet® - F-4 secO+tan® 5
S50. If = — then sin@® is equal to :
twd 2~ 1 secO-tan6 3 e
Sinp I o 3
_Cosp— (c) - (d) -
= 3 4
Sino ,
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= 3 and O is an acute angle,

sin®-cos® T

Slﬂe == :2 s
[Cose ,%’ 'j 51. If+¢089

3sinb + 4cosb
is .

‘ then the value of
388;28:‘ ;:ﬂs g - 8cos0 - 3sinb
CHSL 21/10/2020 (Morning)
—  3X24ux) .
BX\-33x2
a) 10 b) —

2 A (d) 2
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ce® =8 =3 secO + tanb

2 . =5
Jco.j_e 52 If cecO — tan® > and O is an acute
S) LZess _ 7
= 3cos’0 +1
Sin® % .
T angble, then the value of 3c0s?0 - 1 is :
%) @ 2 CHSL 26/10/2020 (Afternoon)
P \ S (a) 3 (b) 2
- X
¥ g (o1 \ (s 4
FX S =] = % :Lf
3%
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omd = K +sin9_k+1
cine L S3. U o6.sin0 k.7 thenk=7?
S STL SSC CGL 10 June 2019 (Morning)
_OS0 - Kk
il (a) cosecel \(b‘)/secO

S X
2 @ (c) cos0 (d) sin0O
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Secot+tamd - 909 secO + tanO

51
T GecoO-tomd 54. If = 2—
SeCH- +om 19 <ecO - 0 2 s then the value of

sin @ is equal to :
CGL 2019, Tier-II (18/10/2020)

& b) oo
144 ()72

91 39
(C) (d) P




